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e Some types of Bamboo can grow by a metre in just one day!

e Cucumbers are actually a fruit and not a vegetable. They are a part of the melon family.

e Killer Whales, also known as Orcas, are not whales at all, and are actually a type of dolphin. They are
the largest breed of dolphins in existence.

5B Home Learning — Wednesday 13th May

ENGLISH

1. Adding the suffix ‘ed’ has always been a hot topic of conversation in our classroom! Some of us forget
that some words need a double consonant at the end e.g. jog — jogged and others of us just add the
letter *d"! Practise adding ‘ed’ with your family by playing the ‘- ed’ suffix game which you will find at
the end of this task sheet.

2. Our topic in PSHE last term was keeping healthy and we looked at the effects drinking alcohol and
smoking had on our bodies. Read the dangers of smoking text and answer the questions.

MATHS

1. Multiplication grid — can you fill in the missing numbers?
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2. A Y5 pupil has been given a set of questions to answer. They tried their best but think they have got
some answers wrong. Go through the work and check the answers. Help the Y5 pupil to understand
their errors by explaining where they have gone wrong or how to find the correct answer.
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Ifincorrect, explain the error.


https://parenting.firstcry.com/articles/amazing-information-facts-about-blue-whale-for-kids/?ref=interlink
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If incorrect, what should the answer be?

SCIENCE: classification

A couple of weeks ago, you studied a poster of wildlife that could be found in, on, above and beside a
river. Under one of the headings of mammal, amphibian, reptile, bird, fish and invertebrate, you wrote the
name of each animal you could find. You categorised the animals: you divided them up depending on

their features.

You have also categorised the features of the 6 different types of animals. For example, a mammal has
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warm blood and hair, and a bird has feathers, wings and lays eggs.

Watch this: https://www.bbc.co.uk/teach/class-clips-video/science-ks2--ks3-classification-of-
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organisms/zh7g92p

Today we are looking at the classification of animals. Read and watch:
https://www.bbc.co.uk/bitesize/topics/zn22pv4/articles/z3nbcwx

Now take a look:

Complete the boxes
with the missing
words: mammal, fish,
bird, reptile or
amphibian.
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Does it lay
eggs?

Yes

MNo

Does it live in
water?

Does it have
warm blood?

~.

Does it fly or

have wings?

Task 1: Neatly write out the animal classification (above) and fill in the missing words.

Task 2: Now have a go at designing your own classification of the same five types of animal (we're
leaving out the invertebrates for now). Remember, always start with a question. For example: Is it warm

blooded? Or, does it have hair?

~.

Does it live on land

and in water?

~



https://www.bbc.co.uk/teach/class-clips-video/science-ks2--ks3-classification-of-organisms/zh7g92p
https://www.bbc.co.uk/teach/class-clips-video/science-ks2--ks3-classification-of-organisms/zh7g92p
https://www.bbc.co.uk/bitesize/topics/zn22pv4/articles/z3nbcwx

The “-ed’ Suffix Game 2

Instructions:

Use counters and a dice to play this fun ‘-ed’ suffix game. Each player rolls
the dice and moves their counter along the board. Each time a player lands
on a word, they must write down the new form of that word using the “-ed’
suffix. Be careful, as sometimes the new ‘-ed’ suffix might mean that you
have to only add a ‘-d’, or it might need an extra consonant. Good luck!

Start play jog crumple sip

dress sprint switch bump paint
Y
shove roll mix open phone
W
hoover talk tip control push

shop close Finish




The Dangers of Smoking wa

Millions of people in the United Kingdom are smokers. However, there are lots of
benefits to giving up smoking as cigarettes are dangerous to health as well as
being very expensive.

The Cost of Smoking
A person that smokes 20 cigarettes each day will spend
nearly £50 every week on cigarettes. During a year,
that adds up to more than £2000! How else could this
money be spent? Holidays, treats and days out or lots
of other exciting ways!

Smoking also costs the country a lot of money.
Approximately 83% of the cost of a pack of cigarettes
goes to the UK government to help pay for medical care
but even this huge amount is not enough to cover the
cost of treating the health problems caused by smoking.

Health Problems Caused by Smoking

Smoking is very harmful to health. The chemicals in
cigarettes can cause all types of health problems, ranging from coughs and
bronchitis to much more serious illnesses, such as cancer and lung conditions.
Over time, smoking gives people breathing difficulties.

Did You Know?
These are just some of the chemicals
in clgarettes:

- hydrogen cyanide (a deadly
poison)

Hicotine - arsenic (used in rat poison)
tar - ammonia (used for cleaning
carbon monoxide windows and toilet bowls)
- polonium (a radioactive
- formaldehyde (used to embalm P (

dead bodies) element)

Cigarettes contain nicotine, which is very addictive. This is the reason why
a lot of people find it difficult to stop smoking. Nicotine affects the brain and
causes it to send messages to other areas of the body to make a person feel
more relaxed. When this feeling wears off, smokers feel like they need to smoke
another cigarette; this is called a ‘craving'.
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The Dangers of Smoking

The Other Effects of Cigarettes

The tar in cigarettes can stain teeth and fingers yellow. The carbon monoxide
in cigarettes decreases the amount of oxygen in the blood. This means that the
heart has to work harder than normal. The longer a person smokes for, the more
likely they are to get a serious illnesses like cancer. Smoking can cause cancer in
many areas of the body but it is one of the major causes of lung cancer.

Stopping Smoking
Even though stopping smoking is difficult, there are lots of places to get help.
The NHS offers people wanting to quit lots of help and support.

People sometimes use nicotine patches so that they can slowly get used to there
being less nicotine in their system. They gradually allow less and less nicotine
into the body, which makes it easier to stop.

Within 1 - 9 months of stopping smoking, the lungs start to recover and it is
easier for ex-smokers to breathe.

Statistics
- 1in 5 adults in the UK are smokers: 20% of men and 17% of
WOomen.
+ This means there are around 9.6 million adult smokers in the
country.
- Smoking rates have halved since 1974 in the UK.
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The Dangers of Smoking

Questions

. Why is smoking expensive for the UK government?

. How much does smoking cost on an individual?

. What percentage of adults in the UK are smokers?

. Why do people find it difficult to give up smoking?

. How is the brain affected by cigarette smoke?

. What is a craving? Explain fully why smokers experience cravings.

. Why do you think smoking in the UK has halved since 19747

. What do some people use to help them stop smoking?

. Why does the heart have to work harder when someone is smoking?




